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Non-Spatial Spatial

Idea

Have information of n = 3088 apartments for rent available
(on Friday October 3, 2008, homegate.ch)

Trying to get a spatial and non-spatial model for the rental
price.

Idea is to find good offers. (i.e. look at residuals)

Idea is inspired by Tobias Roithner.
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Non-Spatial Spatial

Model

@ Use Model

log(price) = m(:)+ e(s)
e(s) = f(s)+e

@ non-spatial trend: m(area, nrRooms, ...) is chosen to be a
linear model — variable selection

@ spatial trend: e(s), model Variogram, Kriege

@ residuals: ¢
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Non-Spatial Spatial

Living Area
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In R: with spsample(ploy,2000,type

"regular")
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choosing an matern model by eye
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THANK YOU
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